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1. & E 4%k
MBIEHERLE IR ERTELRTANE LFH
¥, —BAHUT =R,
O —EERLE,
@ AR AR,
@ —EARFEHE,
A rocket is made of metal.
KFRHSBH LY. (@ ZEHARBFL )
Here is an experiment.
B{: An experiment follows.
THRIEMM—ER., (an FH—FEFHE)
Yy 1s a parameter.
y BB @ AR RF)

The proof of the law is not difficult.



BEFAAEAFREME, (B4 the AEEFELH K, WH
ZA the U )
The unit of potential difference is the volt.
A EMBRARAREE. (B the IAEFEH )
A5b, ZIHERET AT —E BH AR, T
T8 20 (R IR B E —E B H & diF
If a signal is applied to an amplifier, the amplifier can
amplify the signal many times.
mMREESMBIBKEI L, BXKEHBIEESHKHF
2. -
2. AIAGEE
D EFWILE: RERFEENBRATE.
(2) FFIRIIALE -
© Exid
all .
both} + the + £&id
half
B .
All the devices here are home-made.
X B — IR SR E .
@ K did
how (£ 4)
so (HL)
too (KD
as -+ (as) (FBEE)

China has several times as large an area as France (does).

PEAFRAETHRERARYER.
— 2 —

+ AR+ a(an) + HE¥ 4



This is so sensitive a device that it can measure the slight
change in (of) pressure.

XE N At R, Cakln E ARk,

We have to determine how large a force is required

(needed, necessary) to move this table.

BIBREBIXKETFTE -TBKEN.

FHob, EREUTX ROV R & w15 0 4 PR AL E

What a good instrument (it is) !

XA FWE[FR AR : How good an instrument (it is) !

XR—EZ LRI
3. RRAWNGHAM X

BRRDEE—TF”. UHE T “THR T “FE—
TR “AE—abr . “E—HFR”. “E—itie"E
Hnt, TEMR L —REAAREEE.

The prerequisite is a good knowledge of electric circuit
fundamentals.

SERFMF R HENEARNEEET MBI T %,

The scope of this book does not permit a detailed
discussion of all of these mathematical devices.

ABHEEA RGN T EXEHE T EE— AN
.

A quantitative analysis of this circuit is rather involved.

X % LB A — B BEA A BT RAR 2 B 2R

A short calculation will convince you that this is indeed
true.

BN H - TS REEXM AR ERMN.

- 3 -



An examination of the two experiments shows that a
definite relationship exists between current, voltage, and
resistance.

FR-TXHENLRRTES, E0f, BE, Sl
FFFE—FREIXRER.

There is a growing awareness that this technique is of

value.

REANBFRNRB)X —FERREMEY.

%3
L BUTFHFERRIGE, HEERE SR MEERME .
@ Aluminium is not as good a conductor as copper.
@ That is too smail a signal.
@ We find that we are dealing with too large a class of
circuits. So we shall pick up some of them for discussion here.
@ So instinctive an act as choosing a gradual slope of a hill
to walk up instead of a steep slope is based on the principle of

the inclined plane.

2. AR T A ZS A R BGE S AR . A TR RE .

(D This is n-valued function.

® magnet has S pole and N pole.

®) This is RS flip-flop.

@ That is 18-volt battery.

® Sudden changes of voltage in RLC circuit may
produceringing.

® mercury is metal.

__.4_



© B FEAR M EFIT.

@ BMEEKRAT.

@ BMEAKMNTELEHXIRBRHTBELTT,
B PAZE X BOR ok o — e A8 .

@ e i 3 B — AR A B BE T R 2 e % — 1 BENS
ISR — R IT N, RERETREMERZ i,
2.

@ an GXR—DH o MEHEH. O

@ Aj; an; an(BBZKRA - SHEH N, )

@ anGXRE—1T RS EMERR. )

@ an (FFR—A 18 Ry HH. )

® an(GE RLC BB P R RS HE RGBSR . )

®/;a GKER—FERE.)
=. frif

SHAR R PREH, B REMMTEENER
HE. EEINFERNEERETILE.

1. ARMiE &) Py £ BiE kA6

O fEREETPHLERE

In nature there are many substances.

EHRAREHZYR.

Their channel resistances will be relatively low, of the
order of 500 ohms.

— 5 —



BN 1 E B R AR, K290 500 BEX# . (of the
order of 500 ohms 3EFR b J&#F 75 1% B relatively low #), BTFLA
AAEBRE“RBEERE", HHENHHKEAM and KRR
E5) , o
. “with + FEHS A" = RELITHRAENE

care
accuracy
precision
ease
efficiency
skill
difficulty
This experiment should be done with care.
:X’l‘%!&ﬁiﬁﬁﬂﬂﬁwz, (with care = carefully)
(2) ER B (RBEREREHRANEE, Mg EEE
) | |
These are batteries for mobile phones.
X RGEFYLA A .

An electric switch is often on a wall near the door of a

room. '
FRREERA ML,
Q) RBURTERNFZE)
The supply currents specified in the data sheet are for
static dc conditions only. )
RSB PN ERE RERTERAS.
— 6 —




The emitter is at ground potential for all acsignals.
EHBITTF —VRFETRAEBREL TEFHRAMS.

The small-signal-current directions shown in Fig. 6 — 1 are

into the network.

B 6 -1 BiRi/MES BRI MRHEANPEN.

4) fERb 2B

O F& E Y ahia (FEE 3D B R “as” SR .

This parameter is defined as the ratio of signal to noise.

BN BEBEXRETERFZEL., Cas” @B/ LERN
FiE B

We refer to this electronic device as a robot.

FAVEX AR FIREFAVEA, Cas”FIBEMKER
EH R

@ “of + FER FiF"= XEZEHX NV EEA.,

interest

use
value
importance
help

significance

Laboratory work is considered of great importance to the

students of engineering.

BRITAN LB ZWRE TR Z AR R YEEY.
Cof ?HRITE A I AR F B4 BB



T “of + MIRBIAEEETPHIERE.
It is of interest to do experiments in chemistry.
ik L1 BAR A &I .
® R 2 M shiEsE PR EEREiE.
Bl : keep -+ at work “{ff---NPTHL TAE” ;

set -+ in motion “{fi---iZ%E"
Electricity keeps machines at work.

HEES T SIHLES . (at work ZEBLAERIBHN BB

&) fEEAE _
XFEEEARF—MWEEHEE, i in fact, of course, for
example 28%¢,

For example, we can make an electric bell with this kind

of magnet.

B, AT X R R OR T e S,
(6> fESr W R iEHBEDSE A R E from
except) 2 J§)

It is possible to use the energy from within the earth.

{85 oK B3R N TR RE B R FTREAY .

That equation does not hold except in this special case.

HARTERT X BTG O T UM AL .

(7) Fom BUE T B GX A 2418 BB AL T B i 2> 7D

The earth is between 4 and 5(5%, from 4 to 5) billion years
old.

BRI 40 B 50 {25 2 H],

(8) A #5Phahia] SUE &7 4 E

_8_



m.
depend on +--
remind sb. of sth,
equal to «-
capable of --- _
A N EEEEGT NIRRT LA RS T
O© ETEWARIE,
@EEBzHEREIE.
@ #EEFFHHEHEKRE.
@ FEzhiE . HARE. BEEHERE.
©® ERBEAEHERERFEZTENRBE(ZER “as”
BiE),
©® ETRAFAEHUTZ R TR %
s EIEBANEEBE(EER “as"HIE);
© ﬁfﬁ%;
s fEBEREBHAEHLE. (BIREEREZEE
REERE2HEHE X R ED
2. ARG R & ,
ER LT LA 2 B 3o o8 L T o] A AN R
(1) of :
@ “of + REHH A" FXFRAR(LEE L),
HHEFESER.
Engineers may find the book of value as a reference for
basic problems. ’
TR R XA S A — A X R 2% 5
—_ g —



RBHIHER.

What is described in this section is of great importance.

AN HNERBCAEER.

@ RRTE- 2", BRI AEREmRA R, ]
AT —REa T,

Of all the computers in the laboratory, this one works

best.

LR EENHETENT, X—GHERE.

Of the four parameters, three can be disposed of rather

quickly. ‘
X A28, H AT R BAE 2 R E i o B4
b1:1: 0

ECIL. 11T has the smaller propagation delay of the two ECL
seriles.

X WA ECL R34, ECL III &8 ER AR 45 .

@ ARREFEREL TRMALXR.

The lighter machine part has a mass of 7 kg.

BB IEZHNRRN 7 T35,

This device can supply 4 mA of output drive current.

XA AR AL 4 R M LK R

@ FLJE i 4R R HATE 0 &1 CREH F AR X 3hiAD
HEH|ETIE,

Fig. 2 shows the variation of the output with the input.

P 2 T A R L.

Ellipses are used to describe the motions of the planets

around the sun.



AR R HRIT B SR ITIE .

® HJ5iE M AiAREATE AR CER T &Y shia) i#
BEIE.

The resolution of a force into x- and y-components is
possible.

ROVEEBIE DN = By A&

Exposure of the body to potentially toxic substances
should be avoided.

P38 G 0 N\ R e B W T R

(2) with

@ “with + FEBuFhR 416 ” % 8 FH R A B F (L&
BRI, HIESER,

This parameter can be measured with accuracy.

XA S B0 LB W W 8. (with accuracy =
accurately)

@ with 4 vary, change, increase, decrease 25l i% f
i, AIRRHEE-"ZE.

The conductivity of a semiconductor varies with
temperature.

- S G L R TS

® HH R —F“with 25447, BRI, BERTIAE -
WIEX AT AMEE T GELSE A XD A" — T NED.

With friction present, a part of energy has been lost as

heat.

BT FTEREE, — B RIE AT HRART,

This parameter should be measured with E grounded.




XA BN ZAE E S i F 60 T i &

The device with buttons on it is called a keyboard.

R EHEFA SRR E N fes.

@ LT E)FHLEEETRR ST BT £ - B

With the alternating current, things are different.

Xt FARZW K, HAEART .

With radar, we can see distant cobjects.

HTHEE, RITTUEINEST K.

® AIRR A XN EEEL—BRE—FEEHRE.
We can make an electric bell with this kind of magnet.
FATRE G ALX R BOR H fE 48 .

® TRREHEE.

This section makes a comparison of radio waves with

water waves.

R FBRREE G KEE—LE.

(3) by

O W[FRER T A EE B A (TS B A B (AT 1
BEHEE.

In this case, v and ¢ differ in phase by 90°.

XS, v A ML 90°,

Typical noise margins are usually better than the
guaranteed value by about 75 mV.

SRR MRS 9 B B L BREME A K 4 75 B AR

@ ARAMRE; HEZE, TERERSZ .

By Eq. (3), we can obtain the following expression.




WFEFL(D), AT LB T EERE,
® “by + B (HERNEM BT ” — AR “HE
o ZE.

By analyzing this model, one can learn about the structure

of an atom.

SEA AL, A8 T Tt

By an examination of the performance of the device, we

can understand its features.

BEEE—THREHEE, RIVKETREARFA.

@ ¥E method BT —H by ER“H”.

It is possible to overcome the difficulty by this method.

FARX P 75 05 0T DA SE IR AR AN X

(4) for

@ ArRRESERY KA.

The output may stay high for a long time.

i H AT B ] b PR S FLAL

@ AR TF 5 oo B MR- EF I N
FERRFMS.

For £>>1, this equation does not hold.

# x>1, MEZRARBAL,

For » = 1, this factor equals unity.

Ln =14, ITMHEFETF1,

This book is too difficult for a beginner.

AP FREERRAET .

@ 53 solve M, BRBHBRFERGASE.

It is necessary to solve this equation for z.



